MAT 162 Test 5—Version 1 Name So-el-d'l 24V
Fall 2017

For full credit, show all work.
1. Find the foci and vertices and sketch the graph of x?-8x +4y?+ 16y =32.
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2. Find the foci and vertices and sketch the graph of x*-8x + 16y =32 .
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3. Convertr = 3/(1-2cos(8)) into rectangular coordinates and sketch the graph. State the foci and vertices.
Find the slope of the tangent line at 0 = %
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4, Forx=t -3tand y=*-12t, -4<t<4
(a) Find the x and y coordinates of the points where the parametric system has a vertical tangent line.
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(b) Find the x and y coordinates of the points where there are horizontal tangent lines.
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(d) Find the intervals of t where y is increasing. ( ..rdL% o
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(e) Find the equation of the tangent line when t = 0.
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(f) Sketch the graph of the system on an x-y coordinate system for - 4<t <4
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MAT 162 Test 5—Version 2 Name M&_

Fall 2017
For full credit, show all work.
(3"\1. Find the foci and vertices and sketch the graph of x? +8x + 4y~ 16y -32 =0.
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2. Find the foci and vertices and sketch the graph of x -8y + 16y* =32,
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L’\.OB Find the slope of the tangent line at 6 = =, ’
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4. Forx=t -12tand y=t"-3t, -4<t<4
ub}(a) Find the x and y coordinates of the points where the parametric system has a vertical tangent line.
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(b) Find the x and y coordinates of the points where there are horizontal tangent lines.
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(c) Find the intervals of t where x is increasing,
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(d) Find the intervals of t where y is increasing,
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() Sketch the graph of the sygem on an x-y coordinate system for - 4<t <4




